Phép trir s6 thap phan (3 chir s6)
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2.949
-5.473

6.882
-5.311

4.376
-3.115

8.47
—8.089

6.55
—-8.676

5.984
—-5.785

3.879
—6.761

4.544
—-8.836

7.884
—6.895

8.791
-3.218

6.373
-2.743

2.38
-6.992

6.344
—2.482

9.64
-5.279

0.269
-7.062
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Ngay thang:

5.403
—-6.325

3.337
—-3.254

7.861
—-4.511

6.412
—8.366

7.023
—3.556

2.756
—-2.648

5.862
—-4.865

1.568
—-6.002

9.308
—7.497

1.553
-2.823

Piém:
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Phép trir s6 thap phan (3 chir s6)

5.984
—-5.785
0, 199

3.879
—6.761
-2, 882

4.544
—8.836
-4, 292

7.884
—6.895
0, 989

8.791
-3.218
5,573
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6.373
—-2.743
3,63

2.38
—-6.992
-4,612

6.344
—-2.482
3, 862

9.64
-5.279
4,361

0.269
—7.062
-6, 793

Ngay thang:

5.403
—-6.325
-0, 922

3.337
—-3.254
0, 083

7.861
—4.511
3,35

6.412
—8.366
—-1,954

7.023
—3.556
3,467

Piém:

2.756
—2.648
0, 108

5.862
—-4.865
0,997

1.568
~6.002
~4, 434

9.308
-7.497
1,811

1.553
-2.823
-1,27
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